Bnwjbqnt puingpuqpph 1-ht dwup (nudnidubpnd):

Fupquuinipnibbpp juunwpl] Gup pnwubpbt jubunpugppbphg:

54. 3anonuure Tabnuuy:

Cnaraemoe 15 17 | 29 18 50
Cnaraemoe 10 | 10 8 |40 | 11 | 27 |40
Cymma 40 | 25 70 30
3anonuure Tabnuuy:
Cnaraemoe | 15 (30 | 17 | 29 [ 30 | 18 |3 |50
Cnaraemoe 10 (10 |8 |18 40 |11 |27 |40
Cymma 25 |40 |25 |47 | 70 | 30| 30 (90
54. Lpugpkp wnnuuwljp.
Qoudwpbth |15 | 30 17 | 28 (30 |18 |3 |50
Qoudwpbih (10 |0 8 |98 40 |11 | 27 40
Gnulwp 25 |40 |25 | 47 | .70 |30.|30 |90
54.Fill the table.
Addition 15 | 30|17 |29 |30 | 19 |3 |50
Addition 10|10 |8 |18 40 |11 |27 |40
Sum 25 |40 |25 |47 | 70 |30 |30 |90




272. N'p phyt t quinjnud onpugh Jhpenid (Yud bty phy Yhih

onpwh Ytponiu):

272.What number is at the end of the chain?

272. Kakoe YUCNo CTOMT B KOHUE Lenoukn?

a) | 30 + 20 .2 : 20 + 19
6 | 60 + 30 : 3 + 15 -9
8) 100 - 90 8 : 20 +14
o | 8o - 50 : 15 +19 . 3

30*20. .20 .+19 24
) :

100 —>C @ @ - 20 +14 13
- 90 : 15 +19 - 3
e O e € e C) =

381. Zwpyupuwuthwouplubph ) onpujh gpundwt dky wuwnnuuhoh
thnpuwupkt nbknunpbp wthpwdbon pybpp:




381.Insert the required numbers instead of the asterisk in the calculation chain.

381. BMecTO 3883004€K B 3anvCKH BuIMUCNEHWA LENOYKOoR nocTaeste Heobxo-
© AMMbIE Yucha.

a)

15 90

437. 0°p phlt t pug pnnuyusd:

437 .Which is the missing number?

437. Kaxoe uncao nponymeso?



Sen=a 1275 14:2=7  45:3=15

438. dhpwlwbuqul] hwodupyuwi (hwyduplubph) onpuwib:
438. Restore the calculation chain.

438. BOCCTAaHOBMTE LUENONKY BuiMMCNEHWA:
a) + 9 6) - 27




631. @npoénnnipjniup juunwpbp pun qgswuyuwwnlbph:
631.Take action by the diagram.

631. Bunoaunre peficraun no cxeme (pue. 59).

620 | : 31 2

20 +

620 | : | 81 2




769. Hailamre nnowann YeThipBxyronbHMKos, n3o0paxeHHbix Ha pucyHke 72, a,
¥ NNOWAAM TPEYrONbBHUKOB, M300paxeHHbIX Ha pucyHke 72, 0.

a) B 3 em 0 TR M2cu 2cm 4 oM N
| I | )
= | |
:, i 1 ot |
| | ' ”,
A bem D / '
K
6) B D 3cm 1 cMm E p
1cem K
b
L]
- 2 cm
A T

769 .Find the surface areas of the quadrangles shown in Figure 72 a) &
72 b) the surface areas of the triangles in the picture.

769. Qutp 72-h w) tjupnud wuunljkpws punwulniuutph
dwlbptutpp b 72-h p) tjupnid wwunljbpws Epwblniuubph
dwlbkpbuttpp:

a) B 3 cm Qe M2cn 2cm 4 cm N
| 3 | |
2 : ; et
" | ! : 60:
A ' |
A beMm D
K P

0) B

1 cem

4 cm

2¢cm




Sascp=2*3+(5-3)*2:2=6+2=8 uu?
Smkpn=2%3:2+2*3+3*4:2=3+6+6=15 u?
Sasc=4*3:2=6 uu?
Spre=3%4:2+4%4:2=6+8=14 uu?
Stek=(1+2)*2:2=3 uu?:

869. Hahaure nnowans Ourypsl, n3obpaxénHon wa pucywxke 102. Mrowans
OAHOR KneTku 25 mwm’,

Pwc. 102

869 . Find the surface area of the figure on picture 102 .The surface area

of 1 column is 25 square millimeters.

869. QGubtp 102 ujupnid ywwunwlbpud wuunljkph dwibpbup:
1 Juunulih dwlibtpbup 25 duf? L

S=17*25=425 uu?



880. Haitaure o6ném durypsi, uaobpaxénsoit Ha pucyaxke 104. O6ném
kaxjaoro kybuxa 1 cm’.

a) 0) 8)

880 . Find the value of the figures shown in the picture 104. The value of

each cube is lcubic centimeters.

880. Qutp 104 ujupnd wwunwlbpyws dupdhtiitph swjuwyp:
Snipwpwligynip unpubwpnplyh sSufugp 1 ud®

w)V=2"2*5=20 uu3

p)V=10"10*10=1000 uu3

J)V=10"10"5+10*10"1=10*10*6=600 uu>:



884. Kakaa wacts duryps saxkpamesna (puc. 109)?

a) A ¢C D B

"

6) l a)@ A a) . e) @
x)A J) ‘ u) x)‘

M)

o) (|

884 .Which part of the picture is colored?

884. Mwwlbpubph np dwul E qnibwynplus( tup 109):
1 1 1 1 2 2

w)> pr D, 97 D B 9

P We=1D; O; W o)

o6wsem ¢urypst -Uwpluh Swuw)p -the value of the figure

nenouka Beraucaenuii- hwpywunplubph (hwoupldwi) snpw-calculation
chain



wromazns ¢urypsl- uwnljiph Jud dwpduh dwltpku -the surface area of
the figure

wrouaab- Uwljtpku -surface area
JeThIpeXyToabHUK- puunwililjjnil - quadrangle
TpeyrosbHUK- hinwtiljnit knwulyni-triangle
cxema-gowywuwnljip gdbwwuwnljtp-diagram
ciaraemoe-gnidwpkih -addition

cymma-gnidwp —sum:



